Homework 6
SNU 4190.310, 2015 7}-&
Kwangkeun Yi
Due: 11/24(Tue), 24:00
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Exercise 1 (50pts) “SM5 Rozetta”

259} 22 Applerts] wAle] A4 TL & £z ESo] 5 St 1A
o] ¥ < (binary translation) 7] o] A th. 2005 o = o] PowerPC = 2 A| A] o]
A Intel Z 2N A2 Zolel= AAS 3trt. 722 3 6Ll Apple’s World Wide

1R Zs A= “APZ 7] A o] HI”(dynamic binary translation) 7]<.
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Dynamic bina ry translation

® Runs existing apps!
* Transparent to users
* Lightweight

® Fast (enough)
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Rosetta.

The most amazing software
you'll never see.
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27392 Sonata TR O Wejs W0l

Sonataz} SM59} th2 H-2& T3 2ot o]gol+ 27 Zrh

ck:
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e Sonatat= SM5 F3& ZF oA K(“continuation”) §-3%©]

(5, M,E,C).
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)= Sonatao| A= oS3 2t}

(1 (x,C" E") :: S, M, E, call: ()
= (S, M{l— v}, (x,0):F, )
(S, M, E, empty)
= (S, M, E, empty)

e MRElE 2go] AT 5 At GBS BT AFT 5 Aok 3,

S € Stack = Svalue list

M € Memory = Loc— Svalue
ol g o] 1k A, FAglo] Folrke SM5 ZEE WolA] Sonata TEE
e

rozetta: Smb5.command -> Sonata.command
£ 2gste AUt ZE Sm59t 2F Sonata: AlZP Utk O
Exercise 2 (60pts) “¥o g & 4 = 7]”
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e1 + es
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)\7_}2 V1 + V2
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Avg.k(v1 + v2)
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e: Int
e: (Int — Result) — Result
Qe 237 A4 (Int) b, ASE A2 H4
= v (Int — Reult B} oz & 4 345
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wkol A 2 F A3 (Result)E

e1 + ex = k. e1(Avr. ea(Ava. k(v1 + v2)))
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Avy.ea(Ave.k(v1 + v2))
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Avg.k(v1 + v2)
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e = n natural number
id identifier
fn id => ¢ function
ee application

rec id id => e

e+e
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run® 2 T3} Zo] A o/‘]ﬁ/ﬂ + 43
run(e) =
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type mexp = Num of int

| Var of string

| Fn of string * mexp
| App mexp * mexp
| Rec
| Ifz
| Add of mexp * mexp
| Pair of mexp * mexp
| Fst of mexp

|

Snd of mexp
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Exercise 3 (30pts) “M 413§ 7]”

A8 7] run¥ mexpd] FAE A5

recursive function
branch

infix binary operation
pair

first component

second component

CPS- W EsHE WHY] F

mexp -> mexp

sHok g § Qole
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run(e(fn v => v))

o072 A= Zmgadoer
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string * string * mexp

mexp * mexXp * mexp
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